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Boss version: 7.0.8
Signal MC: 0.3M
Inclusive MC: 09124 1.3B
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- PID

« Charge<0

 Prob_pi>Prob k and Prob _pi > Prob p
 Atleast 1good ™

Get Photons

« 25 MeV ->|cosf| < 0.8 50 MeV ->0.86 < |cosf| < 0.92
« 0<TDC=<14

» Angle between y and charged tracks larger than 10°

* Angle between y and p larger than 20°

* Ngood =1
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Kinematic Fit

« Fit £*,m~,y,n, constrain 4-momentum
* n: missing track, constrain the mass m,,
 Loopoverally, n~

 Select minimum y? combination
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Additional Kinematic Fit

« Fit ¥, m7,y, y,n, constrain 4-momentum
* n: missing track, constrain the mass m,,
 Loop overally, m~

 Select minimum y? combination
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atata n " pp 1 79325 79325
Pttt a T ng 4 53531 132856
Tt T pp 6 19468 152324
wrtrta T pp 2 14895 167219
Pttt a T ng 11 11918 179137
mnlrtata np 3 7847 186984
Ortata~n"pp b 6934 193918
wlrtrta T pp 20 5115 199033
rtata T ppy 14 3685 202718
'ttt np 16 3555 206273
atata n pp 9 2921 209194
m'r’rtrtr np 8| 2576 211770
atata w pp 27 2226 213996
ottt a T pp 28 1968 215964
rtat e ngy 15 1841 217805
mrtrta T ng 62 1715 219520
mrtata np 21 1436 220956
wrtatn n pp 38 1237 222193
atata n pp 17 1137 223330
m'r’rtrtr np 24 1073 224403
atata w pp 43 858 225261
w T ppry 58 819 226080
+

Tt pp 12 743 226823
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All cut

« x?>30

* nGood >4

* 0.116Gev <m_o <0.148Gev

* my- <1.185Gev or mg- > 1.22Gev
- DecaylLength of vertex fit ¥+ > -0.5
« 1.342Gev < ms«+ < 1.38Gev
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Thanks
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2~ Gignal MC
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